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REHS: 17001-NPC0304-23112703-S T2 16m

A5 R
CJ40-160. CJ40-200. CJ40-250;
Ui: 1140V;
Uimp: 8kV;
[th=250A;

Us: AC36V, AC110V, ACI127V, AC200V, AC220V, AC240V, AC380V, A
C440V, AC660V, 50Hz; AC/DC220V;

CJ40-160:

AC-1: Ie: 250A;

AC-3. AC-4: Ue/le: 220V/160A, 380V/160A, 660V/125A;
CJ40-200:

AC-1: Ie: 250A;

AC-3. AC-4: Ue/le: 220V/200A, 380V/200A, 660V/125A;
CJ40-250:

AC-1: Ie: 250A;

AC-3: Ue/le: 220V/250A, 380V/250A, 660V/125A, 1140V/80A;
AC-4: Ue/le: 220V/250A, 380V/225A, 660V/125A;

3P;

Fe A saBh Ak (R4R) @ 4NO2NC; Ui: 690V; Ith: 10A;

Ue/le: AC-15: AC380V/0.82A, DC-13: DC220V/0.27A
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